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Reading, UK

Buyeo-gun, Korea

| =| Clinic, Okinawa

| *Yourou Town, Gifu |

= Takahama Town, Fukui |

*Moriyama City, Shiga (EV)

®
a

= Akashi City, Hyogo
= Kawanishi City, Hyogo
*Toyooka City, Hyogo

=Sakai City, Osaka (EV)
= Osaka City, Osaka (EV)

*liduka City, Fukuoka

| =Unzen City, Nagasaki

| =lyo City, Ehime |

* Kawaminami Town, Miyazaki

[Ita
0|
[Ita
not

| =Sanjou City,

Niigata

= lkusaka Village, Nagano

A~ > o )

I/~
O\~ \

= Shimotsuke City, Tochigi

=Chino City, Nagano (BDF)

A~ V

7

i

* Kasumigaura City, Ibaraki
* Ami Town, Ibaraki
*Jousou City, Ibaraki

= Tsukubamirai City, Ibaraki

=S-hospital, Saitama
*Hatoyama Town, Saitama
= Kitamoto City, Saitama
*Yorii Town, Saitama

= Kuki City, Saitama

= Chiyoda Area, Tokyo

*Minato Area, Tokyo
* Musashimurayama City, Tokyo

= Chigasaki City, Kanagawa
*Nakai Town, Kanagawa

*North Kashiwa City, Chiba
=South Kashiwa City, Chiba
= Kashiwa City(Syounan), Chiba

= Sango Town Nara

*Kounan City, Kouchi

*Hokuto City, Yamanashi
* Koushu City, Yamanashi

*Tamaki Town, Mie

=Sanmu City, Chiba
=Sakura City, Chiba

= Kimitsu City, Chiba
-Narita City, Chiba
*Tougane City, Chiba
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